UIUC Physics 406 Acoustical Physics of Music

Nodes of transverse displacement occur at x-values along the string where sin (27rx/)\) =0
= x-positions along the string where the transverse displacement is minimum: y(x,t) =0

sin(27rx/)\):0 when: (27TX/)\)207T,17T,27T,37T....: nm, n=0,123....

Thus, we see that nodes occur at: X = )\:%)\,l)\,gA,ﬁ)\.... n=0,123....
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Anti-Nodes of transverse displacement occur at x-values along the string where sin (27x/\) =1
= x-positions along the string where transverse displacement is maximum: y(x,t) = A

sin (2mx/\) =1 when (2rx/)) =12 32 Sl....:m%, m=135,...

Thus, we see that anti-nodes occur at: x:%)\:%A,%)\,%)\.... m=13,5,...
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